電腦網路與通訊基礎 Homework #1
1. [Q1-8] For n devices in a network, what is the number of cable links required for a mesh, ring, bus, and star topology?
2. [Q1-13] How many point-to-point WANs are needed to connect n LANs if each LAN should be able to directly communicate with any other LAN?
3. [Q1-15] What is the first principle we discussed in this chapter for protocol layering that needs to be followed to make the communication bidirectional?
4. [Q1-24] What are the types of addresses (identifiers) used in each of the following layers?
(a) Application layer  (b) network layer   (c) data-link layer
5. [P1-12] Match the following to one or more layers of the TCP/IP protocol suite:

(a) Route determination

(b) Connection to transmission media

(c) Providing services for the end user

(d) Responsibility for handling frames between adjacent nodes

6. [4-13] Draw in chart form (as shown in Figure 4-12) the voltage representation of the bit pattern 11010010 for the digital encoding schemes NRZ-L, NRZ-I, Manchester, differential Manchester, and bipolar-AMI.   (20%)
7. [4-14] What is the baud rate of a digital signal that employs differential Manchester and has a data transfer rate of 2000 bps? 
8. [4-15]  Show the equivalent 4B/5B code of the bit string 1101 1010 0011 0001 1000 1001.
9. [4-16] What is the data transfer rate in bps of a signal that is encoded using phase modulation with 8 different phase angles and a baud rate of 2000?
